
ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN 
49/24-A, MINTO ROAD, PRAYAGRAJ. 

               SESSION JULY – DECEMBER 2023    

MASTER ADVANCE DIPLOMA (Honors. In Clinical Study) (Sem.10) 

       BASICS OF HUMAN BODY (BHB-10) 

TIME – 2.00 HRS       MAX MARKS-100 

      (ONLINE EXAM) 

           SECTION – 1 

             Short questions 
           
Attempt only four out of five (in about 50 words).   4x10= 40 

Qu. 1.  Write the functions of water in human body.
ekuo 'kjhj esa ty ds dk;Z fyf[k,A 

  
Qu.2.  Write the functions of protein in human body. 

 
Qu.3.  Write the symptoms of loss of shukra dhatu. 

 

Qu.4.  Write the function of albumin in human body. 
   

 
Qu.5.  Write the symptoms of hypokalemia (Potassium deficit). 



       
(Section-2) 

               Objective questions 
             

All compulsory.       30x2 = 60 

(1) What is the name of Rasa (jl) dhatu according to modern science? 
(a)  Plasma     (b) Blood   
(c)  Fat     (d) None 

(b)  Plasma    (b) Blood   
(c)  Fat     (d)  
 

(2) What is the function of plasma? 
(a)  Nourishment   (b) vitality   
(c) Lubrication    (d) None 

  
(a)    (b) 
(c)   (d)  

(3)  Which is a sub-tissue of adipose tissue? 
(a)  Muscles    (b) Teeth    
(c) Ligaments    (d) None 

 
(b) Muscles    (b) Teeth    
(c) Ligaments  (d) 

 
(4)  Which is the denaturing agent of protein? 

(a)  Heat     (b) pH    
(c) Both     (d) None 

  
(a) Heat     (b) pH  
(c) nksuksa   (d) 

(5) Which is not used in reaction? 
(a)  Protein    (b) Enzyme    
(c) Fat     (d) None 

  
(b) Protein    (b) Enzyme    
(c) Fat  (d) 



 
(6) Low globulin level may sign of - 

(a) Liver disease   (b) Kidney disease   
(c) Both     (d) None

  
(a) Liver disease    (b) Kidney disease  
(c)    (d) 

(7) Which is normal range of potassium in Plasma? 
(a)  3.5 to 5 mEq/L   (b) 1.5 to 3 mEq/L  
(c) 5 to 7 mEq/L   (d) None 

  
(b) 3.5 to 5 mEq/L   (b) 1.5 to 3 mEq/L  
(c) 5 to 7 mEq/L   (d) 
 

(8) Which cation is more in plasma? - 
(a) K+     (b) Ca+   
(c) Na+     (d) None

(Cation)   
(a)  (b)  
(c)  (d) 
 

(9) Excess value of sodium (Na+) in serum is known as- 
(a)  Hypokalemia  (b) Hyponatremia  
(c) Hypernatremia  (d) None 

  
(b) Hypokalemia  (b) Hyponatremia  
(c) Hypernatremia    (d)  
 

(10) What is the full form of GOO (medical abbreviation)? 
(a)  Gastric obstruction outlet (b) Gastric outlet obstruction  
(c) Gases outlet obstruction   (d) None 

 
(b) Gastric obstruction outlet (b) Gastric outlet obstruction  
(c) Gases outlet obstruction   (d) 

(11)  Which anion is more in plasma? - 
(a) Cl-    (b) Protein   
(c) HCO3

-   (d) None



(anion)   
(a)  (b)  
(c)  (d) 

(12) What is the full form of CT scan? 
(a)  Computed tomography (b) Computer tomography     
(c) Both     (d) None 

 
(a) Computed tomography (b) Computer tomography    
(c) nksuksa    (d)  

(13) _____Calcium found in bone- 
(a)  99%    (b) 1%  
(c) 5%    (d) None 

 
(b) 99%    (b) 1%  
(c) 5%  (d) 
 

(14) Which a biological catalyst? 
(a)  Free radicals  (b) Fat  
(c) Enzyme   (d) None 

(b) Free radicals  (b) Fat  
(c) Enzyme   (d) 
 

(15) At extremely cold temperature, enzyme work - 
(a)  Not at all   (b) Slow  
(c) Both    (d) None 

 
(a)    (b) 
(c) (d) 
 

(16) All matter is our universe is built of particles called - 
(a)  Atom    (b) Electron   
(c)  Proton    (d) None 

 
(a)      (b)   
(c)      (d) 

 
 



(17) Molecules consist of - 
(a)  Atoms    (b) Elements   
(c) Tissue    (d) None 

 
(a)     (b)    
(c) (d) 
 

(18) The pH measures from - 
(a) 0 to 5    (b) 0 to 7 
(c) 0 to 14     (d) None 

 
(a)    (b)  
(c) 0 ls 14 rd  (d)  
 

(19) Vitamin B1 is also known as- 
(a)  Thiamine    (b) Biotin    
(c) Ascorbic acid   (d) None 

 
(b) Thiamine    (b) Biotin    
(c) Ascorbic acid (d)  
 

(20) Which vitamin is responsible for blood clotting - 
(a) Vitamin A    (b) Vitamin B 
(c) Vitamin K    (d) None  

 
(a)      (b)  
(c)   (d) 

(21) Which is a fat-soluble vitamin? 
(a)  Vitamin A    (b) Vitamin B 
(c) Vitamin C    (d) None 

 
(a     (b)  
(c)  (d) 

(22) Waste product of protein is- 
(a) Urea     (b) Creatinine 
(c) Both     (d) None 

 
(a)    (b)  
(c)  (d) 



(23) Which is a chemical messenger? 
(a)  Enzymes    (b) Hormones 
(c) Vitamins    (d) None  

 
(a) Enzymes    (b) Hormones 
(c) Vitamins   (d) 
 

(24) Aorta supplies blood to the - 
(a)  Heart    (b) Lungs  
(c) Whole body   (d) None

 
(a)     (b)   
(c)   (d)  

 
(25) All enzymes are - 

(a)  Fat     (b) Carbohydrate   
(c) Protein    (d) None 

 
(b)  Fat     (b) Carbohydrate   
(c) Protein    (d) 
 

(26) Amylase is a - 

(a) Enzyme    (b) Hormone 
(c) Vitamin     (d) None 

 
(a)   (b) 
(c) (d) 

(27) Proteins are affected by - 
(a) Wind     (b) Temperature   
(c) Both     (d) None 

 
(a)     (b)   
(c)  (d) 
 

(28) Normal pH value of cerebrospinal fluid (CSF) is - 
(a)  3.8 to 4.5    (b) 4.5 to 5.5  
(c) 7.3 to 7.5     (d) None  
 



 
(a) (b)   
(c)  (d)  
 

(29) Which is a free radical rich food product? 
(a) White rice   (b) Tobacco 
(c) Both    (d) None 

 
(a) White rice   (b) Tobacco 
(c)  (d)  

(30) Which is an antioxidant rich food product? 
(a) White rice   (b) Tobacco 
(c) Green tea   (d) None 

 
(a) White rice   (b) Tobacco 
(c) Green tea (d)  
   …………  

 



ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN 
49/24-A, MINTO ROAD, PRAYAGRAJ. 

         SESSION JULY – DECEMER 2023  

   MASTER ADVANCE DIPLOMA (Honors. In Clinical Study) (Sem.10) 

       CHINESE ACUPRESSURE (CA-10) 

TIME – 1.30 HRS        MAX MARKS-100 

      (ONLINE EXAM) 
           SECTION – 1 
            Short questions 

Attempt only four out of five (in about 50 words).   4x10= 40 

 
Qu.1. Write the symptoms and treatment points of Blood stasis.  

Blood stasis

Qu.2. Write the symptoms and treatment points of Kidney essence.  
Kidney essence

 
Qu.3. Write is treatment of GIT infection by Source and Xi-Cleft points. 

(Source/Xi-Cleft points ) 

Qu.4. What is Byol meridian? Show Lungs meridian in figure. Show the first 
and last points on it. 

  
 

Qu.5. Write the treatment point of UTI (by Source/Xi-Cleft point). 
(Source/Xi-Cleft point )



(Section-2)
Objective questions 
        

All compulsory.         30x2 = 60 

(1)   Causes of excess hunger is- 
(a)  Liver heat    (b) Heart heat   
(c) Stomach heat   (d) None 

(a)  Liver heat    (b) Heart heat   
(c) Stomach heat   (d) 
 

(2)   Increasing pain after motion indicates - 
(a)  Excess condition   (b) Deficient condition   
(c)  Normal condition   (d) None 

  
(a)    (b)  
(c)    (d) 

(3)  Gathering Qi related organ is - 
(a)  Kidney    (b) heart   
(c) Lungs    (d) None 
Gathering Qi   
(a)      (b)    
(c)    (d) 

 (4)  Organ related to Head hair is - 
(a)  Lungs    (b) Kidney    
(c) Heart    (d) None 

  
(a)   (b)  
(c)  (d) 



(5)   Sour taste related element is - 
(a)  Wood    (b) Earth    
(c) Water    (d) None 

  
(a)     (b)   

(c) (d) 

 
(6)   Exhales quickly with loud voice indicates - 

(a) Hot type    (b) Deficient type    
(c) Excess type   (d) None

  

(a)   (b)  

(c)  (d) 

(7)   Pain after period is related to - 
(a)  Deficiency    (b) Excess 
(c) Normal    (d) None 

   

(a)       (b)  

(c)     (d) 

 
(8)   By taking Antibiotic medicine for several days causes - 

(a) Liver Qi Deficiency  (b) Stomach Yin deficiency   
(c) Spleen Yin deficiency  (d) None

  
(a)   (b)   

(c)  (d) 

 
(9)   Cause of Moveable abdominal masses which come and go is - 

(a)  Liver Qi deficiency  (b) Liver Qi stagnation 
(c) Spleen Qi deficiency  (d) None 

  

(a)   (b)  

(c)    (d)  



 
(10) Cause of loose stool with foul smell is - 

(a)  Humid heat   (b) Humid cold  
(c) Liver Qi stagnation  (d) None 

  
(a)  Humid heat   (b) Humid cold  
(c) Liver Qi stagnation (d) 

(11) Vertigo is only on change of Postures is due to - 
(a)  Cold type    (b) Deficiency type  
(c) Excess type   (d) None 
Postures   
(a)    (b)  
(c)  (d)  
 

(12) Heart blood deficiency symptom is - 
(a)  Numbness    (b) Anger   
(c) Feel cold    (d) None 

 
(a)   Numbness   (b) Anger 
(c) Feel cold  (d) 

(13) Fever will be treated by - 
(a)  Gv - 9    (b) Gv - 14  
(c) K – 6     (d) None 

 
(a) Gv - 9    (b) Gv - 14 
(c)  K – 6   (d) 
 

(14) Master point of Belt meridian is - 
(a)  K - 6     (b) Lu –7 
(c) GB - 41    (d) None 
Belt meridian Master point
(a) K - 6     (b) Lu –7   
(c) GB - 41   (d) 

 



(15) Jaw joint will be treated by - 
(a)  JD - 3    (b) JD - 2   
(c) JD - 1    (d) None 

 
(a) JD - 3    (b) JD - 2
(c) JD - 1 (d) 
 

(16) Tip of the nose is red due to - 
(a)  Lungs    (b) Spleen   
(c) Kidney    (d) None 

 
(a)      (b)  
(c)     (d)  
 

(17) Energy of Lu-9 is - 
(a)  Wind     (b) Humidity   
(c) Coldness    (d) None 
Lu-9  
(a)      (b)     
(c)  (d) 
 

(18) Slow voice indicates - 
(a) Excess type   (b) Cold type 
(c) Deficient type    (d) None 

 
(a)   (b)   
(c)   (d)  
 

(19) Organ Source point of Gall Bladder is - 
(a)  GB - 39    (b) GB - 40      
(c) GB - 42     (d) None 

Organ Source  
(a)  GB - 39    (b) GB - 40    
(c) GB - 42   (d)  
 

(20) Dream disturb sleep is due to - 
(a) Stomach    (b) Liver 
(c) Lungs    (d) None  



 
(a)      (b)  
(c)    (d) 

(21) Hiccup is related to - 
(a)  Collapse of Qi   (b) Deficiency of Qi  
(c) Contravection of Qi  (d) None 

 
(a) Collapse of Qi   (b) Deficiency of Qi 
(c) Contravection of Qi (d) 

(22) As per EAV “Pericardium meridian” is - 
(a) Brain meridian   (b) Endocrine meridian  
(c) Circulation meridian  (d) None 
EAV  
(a)  Brain meridian   (b) Endocrine meridian 
(c) Circulation meridian (d) 

(23) Write full name of AHL chart - 
(a)  Acupressure Healing Line (b) Acu Health Line  
(c) Both     (d) None  
AHL  
(a)  Acupressure Help Line (b) Acu Health Line
(c) (d)  
 

(24) Fatty liver will be treated by - 
(a)  Fat D - 3    (b) Fat D - 2  
(c) Fat D - 1    (d) None 
Fatty liver  
(a)  Fat D - 3    (b) Fat D - 2   
(c) Fat D - 1    (d)  

 
(25) Tonification colour of Ajna chakra is - 

(a)  Green    (b) Black  
(c) Orange    (d) None 

 
(a)      (b)  
(c)     (d) 



 

(26) Stomach is related to - 
(a)  Yang Swadhisthan  (b) Yang Mnaipur   
(c) Yang Vishuddha   (d) None 

(a)    (b) 
(c) (d) 

(27) Full form of EOV is - 
(a) Eight Extraordinary Vessel (b) Electro Acupuncture vessel  
(c) Both     (d) None 
EOV  
(a)  Eight Extraordinary Vessel (b) Electro Acupuncture vessel
(c)   (d) 
 

(28) AHL is - 
(a)  Software    (b) Treatment procedure  
(c) Disease     (d) None  
AHL  
(a)     (b)   
(c) (d)  
 

(29) Distal point of neck is - 
(a) Li – 4    (b) Lu - 7 
(c) Sp - 6    (d) None 

 
(a)  Li – 4    (b) Lu - 7  
(c) Sp - 6 (d) 

(30) Full form of TCM is - 
(a)  Traditional Chinese Medicine(b) Treatment Chinese Meridian  
(c) Time Chinese Meridian   (d) None  
TCM  
(a) Traditional Chinese Medicine(b) Treatment Chinese Meridian 
(c)  Time Chinese Meridian (d) 
    …………  

 



ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN 
49/24-A, MINTO ROAD, PRAYAGRAJ. 

               SESSION JULY – DECEMBER 2023    

MASTER ADVANCE DIPLOMA (Honors. In Clinical Study) (Sem.10) 

       AYURVEDIC ACUPRESSURE (AA- 10) 

TIME – 1.30 HRS       MAX MARKS-100 

      (ONLINE EXAM) 

           SECTION – 1 

             Short questions 
           
Attempt only four out of five (in about 50 words).   4x10= 40 

 
Qu. 1.  Write the name of Fat soluble vitamins.

 

  
Qu.2.  Show the locations of points – Both RF-P jts-245↓37↑ by 

diagram. 
Both RF-P jts-245↓37↑ 

 
Qu.3.  Write the parts of Brain Stem. 

Brain Stem  

Qu.4.  Show the location of – 
YNM – Li - 012↓ 
YNM – Si - 012↑. 

YNM – Li - 012↓ 
YNM – Si - 012↑. 
 

Qu.5.  Write the name and treatment location of all tissues. 
 



 
 
 
      (Section-2) 
               Objective questions 
             

All compulsory.       30x2 = 60 

(1) YNM – Liv/Sp – 012 points are located in - 
(a)  IF-Channel    (b) Big toe-Channel   
(c) MF-Channel   (d) None 
YNM – Liv/Sp – 012
(a)   (b)   
(c)  (d) 
 

(2) Rt IF – 4th Spm- 036↑459↓ is the treatment for - 
(a)  Itching    (b) Weak vision   
(c) Urine infection   (d) None 
Rt IF – 4th Spm- 036↑459↓   
(a)      (b)  
(c)    (d)  

(3)  Treatment of HBP is - 
(a)  *7’ ↓      (b) *5’ ↓    
(c) *3’ ↑     (d) None 

  
(a) *7’ ↓      (b) *5’ ↓    
(c)  *3’ ↑   (d) 

 
(4)  YNM- Lu- 012 is plotted in - 

(a)  IF channel    (b) MF channel    
(c) Thumb channel   (d) None 
YNM- Lu- 012   
(a)    (b)  
(c)   (d) 



(5) Lt Thumb- all LHM –(OF) is the treatment for - 
(a)  Skin disease   (b) Brain disorders    
(c) Gastritis    (d) None 
Lt Thumb- all LHM –(OF)   

(a)      (b)    

(c) (d) 

 
(6) Osteophyte formation is which type of disease? 

(a) Kapha    (b) Vaat  
(c) Pitta     (d) None

  

(a)    (b)   

(c)   (d)  

(7) Treatment Toe No-0- 25↓17↑ is for which disease - 
(a)  Itching    (b) Navel disturbance 
(c) Hair fall    (d) None 
Toe No-0- 25↓17↑   

(a)     (b)  

(c)   (d) 

 
(8) Stickiness is the attribute of which element - 

(a) Fire     (b) Earth   
(c) Water    (d) None

  
(a)      (b)   
(c)  (d) 
 

(9) Rt RF- 012 Spm- 23↓14↑ is treatment for - 
(a)  Gastric & Belching  (b) Heel pain  
(c) Neck pain    (d) None 
Rt RF- 012 Spm- 23↓14↑   
(a)    (b)  
(c)     (d)  
 



(10) YNM- AD -012 is plotted on - 
(a)  Ring finger channel  (b) Small finger channel  
(c) Middle finger channel  (d) None 
YNM- AD -012   
(a)   (b)   
(c) (d) 

(11) Which one is the function of Earth element - 
(a)  Sharpness    (b) Cohesion  
(c) Softness    (d) None 

  
(a)      (b)  
(c)    (d)  
 

(12) What is the normal pH of Blood - 
(a)  Alkaline    (b) Acidic     
(c) Both     (d) None 

pH  
(a)       (b)  
(c)    (d)  

(13) Lt palm *14↑23↓ is the treatment for - 
(a)  Gas & Acidity   (b) Ear pain  
(c) Heel pain    (d) None 

*14↑23↓  
(a)    (b)  
(c)   (d) 
 

(14) As per 2 bones and nerves division of spine, cervical vertebra is 
plotted in - 
(a)  Both MF    (b) Both SF  
(c) Both Thumbs   (d) None 
2
(a)    (b)    
(c)   (d) 
 

(15) Treatment of Diabetes will be on - 
(a)  Pn/Sp/Liv/Kid meridian (b) H/Lu meridian   
(c) ND/JD meridian   (d) None 



 
(a) Pn/Sp/Liv/Kid meridian  (b) H/Lu meridian 
(c) ND/JD meridian (d) 
 

(16) Both SF- V jts & RF- K jts- 245↓37↑ treatment is for - 
(a)  Skin disease   (b) Nose block   
(c) Lumbar & Cervical pain (d) None 
Both SF- V jts & RF- K jts- 245↓37↑  
(a)     (b)  
(c)    (d) 
 

(17) Which one is Water soluble vitamins - 
(a)  Vit - C    (b) Vit- A   
(c) Vit - D    (d) None 

 
(a)     (b)    
(c) (d) 
 

(18) Lt RF- 2nd Spm is related to - 
(a) Cervical area   (b) Lumbar area 
(c) Thoracic area    (d) None 
Lt RF- 2nd Spm  
(a)    (b)   
(c)   (d)  
 

(19) Neurogenic pain will be treated on - 
(a) YNM- ND- 0,1,2   (b) YNM- OR- 0,1,2   

(c) YNM- Fib- 0,1,2   (d) None 
 

(b)  YNM- ND- 0,1,2   (b) YNM- OR- 0,1,2  
(c) YNM- Fib- 0,1,2   (d)  
 

(20) Which treatment is suitable for cold safety in winter season - 
(a) 36↓45↑    (b) 12↑45↓ 
(c) 24↓36↑    (d) None 
 
  



 
(a)  36↓45↑    (b) 12↑45↓  
(c) 24↓36↑  (d) 

(21) Both SF- all Spm- 36↑45↓ is the treatment for - 
(a)  Sp/St    (b) Lungs & Heart  
(c) UB/GB    (d) None 
Both SF- all Spm- 36↑45↓  
(a) Sp/St    (b) Lungs & Heart  
(c) UB/GB (d) 

(22) Lt Thumb – all LVM - 0↑9↓ is the treatment for - 
(a) Infection    (b) Heel pain  
(c) Knee pain    (d) None 
Lt Thumb – all LVM - 0↑9↓  
(a)      (b)  
(c) (d) 

(23) Both Thumbs- V jts- 245↓37↑ is treatment for - 
(a)  Stenosis at C 3, C4  (b) Stenosis at L-5, S-1 
(c) Stenosis at D 3, D4  (d) None  
Both Thumbs- V jts- 245↓37↑  
(a) Stenosis at C 3, C4  (b) Stenosis at L-5, S-1 
(c) Stenosis at D 3, D4  (d) 
 

(24) Treatment of Skin disease is - 
(a)  OR- 012↓    (b) ND- 012↓   
(c) SK- 012↓    (d) None 

 
(a)  OR- 012↓    (b) ND- 012↓  
(c) SK- 012↓    (d)  

 
(25) Treatment Both RF – V jts 236↓14↑ is for - 

(a)  Anger    (b) Heel pain   
(c) Ear pain    (d) None 
Both RF – V jts 236↓14↑  
(a)      (b)  
(c)    (d) 



 

(26) Which part of Brain is related to Brain Stem - 
(a)  Thalamus    (b) Cerebellum   
(c) Hypothalamus   (d) None 

 
(a)     (b) 
(c)  (d) 

(27) How many ventricles are in Brain - 
(a) 4     (b) 5   
(c) 6     (d) None 

ventricles  
(a)  4     (b) 5 
(c) 6 (d) 

(28) Both MF-6 VM (OF) is related with - 
(a)  OR meridian   (b) Heart meridian   
(c) AD meridian    (d) None  

 Both MF- 6 VM (OF)  
(a) OR   (b)   
(c)  AD (d)  
 

(29) Both IF- K jts- 036↑459↓ treatment is related with - 
(a) Lu/Li     (b) Liv/Kid 
(c) Sp/St    (d) None 

 Both IF- K jts- 036↑459↓  
(a)  Lu/Li     (b) Liv/Kid  
(c) Sp/St  (d)  

(30) LMM- 7/8 (Br-OF) 1459↓0368↑ is the treatment for - 
(a)  Breathing problem   (b) Lower back pain   
(c) Acidity    (d) None  
LMM- 7/8 (Br-OF) 1459↓0368↑  
(a)   (b)  
(c)  (d) 
   …………  


